September 1, 2020 through August 31, 2021

2 60	/ L	. 2 5 . 5 .		- D'-1/E' D		
2 1%	6 Low Fat Chocolate Milk, 1/2 Pint Carto	•				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	163500	EACH	\$0.33	\$53,955.00	0
3 Fa	t Free Chocolate Milk, 1/2 Pint Carton, 3	Day Delive	ry - Base B	id/Firm Pricing		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	40000	EACH	\$0.3225	\$12,900.00	0
4 Fa	t Free Strawberry Milk, 1/2 Pint Carton,	3 Day Deliv	ery - Base	Bid/Firm Pricing		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	48500	EACH	\$0.33	\$16,005.00	0
5 1%	6 Low Fat Milk, 1/2 Pint Carton, 3 Day De	elivery - Bas	e Bid/Firm	Pricing		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	255540	EACH	\$0.33	\$84,328.20	0
8 W	hite Skim Milk, 1/2 Pint Carton, 3 Day Do	elivery - Bas	e Bid/Firm	Pricing		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	46000	EACH	\$0.32	\$14,720.00	0
9 1%	6 Low Fat Chocolate Milk, 1/2 Pint Carto	n, 3 Day Del	ivery - Alt.	No. 1 Price Adjust.		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	255000	EACH	\$0.291	\$74,205.00	0
10 Fa	t Free Chocolate Milk, 1/2 Pint Carton, 3	Day Delive	ry - Alt. No	o. 1 Price Adjust.		
<u> </u>	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	81000	EACH	\$0.2785	\$22,558.50	• •
11 1%	6 Low Fat Milk, 1/2 Pint Carton, 3 Day De	elivery - Alt.	No. 1 Pric	e Adjust.		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	35000	EACH	\$0.272	\$9,520.00	• •

September 1, 2020 through August 31, 2021

	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	300	EACH	\$0.2955	\$88.65	Supplier Hotes
	opstate Magara Cooperative, Inc.	300	LACIT	7 0.2333	γου.υυ	
15 Whi	ite Skim Milk, 1/2 Pint Carton, 3 Day D	elivery - Alt.	No. 1 Price	Adjust.		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	103000	EACH	\$0.261	\$26,883.00	
16 c	oz PLASTIC BOTTLES, 2% Low Fat Milk,	ow Fat Cho	colate, Low	Fat Strawberry, Inte	ense Chocolate,	, Capuccino (Mocha or Vanilla),
	cha, Vanilla, Mint Chocolate Chip, plus /Firm Pricing	any periodi	c special flav	ors. PLEASE LIST AL	L FLAVORS AVA	ILABLE. 3 Day Delivery - Base
Biu/	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	эцрист	Q. I	00111	Omerrice	Exteriocu	WHOLE MILK, 2%, SKIM, INTENSE
						CHOCOLATE, INTENSE VAN, INTENSI
						LF STRAW, LF VAN CAPPUCCINO,
						MINT CHOC CHIP (SEASONAL),
						INTENSE PUMPKIN SPICE (SEASONA
						INTENSE PUMPKIN SPICE (SEASONAI INTENSE COOKIES & CREAM
	Upstate Niagara Cooperative, Inc.	1000	EACH	\$1.09	\$1,090.00	·
24 1%				\$1.09	\$1,090.00	INTENSE COOKIES & CREAM
24 1%	Upstate Niagara Cooperative, Inc. Low Fat Milk, Gallon, 3 Day Delivery - E Supplier			\$1.09 Unit Price	\$1,090.00 Extended	INTENSE COOKIES & CREAM
24 1% I	Low Fat Milk, Gallon, 3 Day Delivery - E	Base Bid/Fir	m Pricing			INTENSE COOKIES & CREAM (SEASONAL) Supplier Notes
	Low Fat Milk, Gallon, 3 Day Delivery - E Supplier	Base Bid/Firi QTY 560	m Pricing UOM EACH	Unit Price	Extended	INTENSE COOKIES & CREAM (SEASONAL) Supplier Notes
	Low Fat Milk, Gallon, 3 Day Delivery - E Supplier Upstate Niagara Cooperative, Inc.	Base Bid/Firi QTY 560	m Pricing UOM EACH	Unit Price	Extended	INTENSE COOKIES & CREAM (SEASONAL) Supplier Notes
	Low Fat Milk, Gallon, 3 Day Delivery - E Supplier Upstate Niagara Cooperative, Inc. Low Fat Milk, Gallon, 3 Day Delivery - E	Gase Bid/Firm QTY 560 Base Bid/Firm	m Pricing UOM EACH m Pricing	Unit Price \$3.85	Extended \$2,156.00	INTENSE COOKIES & CREAM (SEASONAL) Supplier Notes Supplier Notes
26 2% I	Low Fat Milk, Gallon, 3 Day Delivery - E Supplier Upstate Niagara Cooperative, Inc. Low Fat Milk, Gallon, 3 Day Delivery - E Supplier	Base Bid/Fire QTY 560 Base Bid/Fire QTY 10	m Pricing UOM EACH m Pricing UOM EACH	Unit Price \$3.85 Unit Price	Extended \$2,156.00 Extended	INTENSE COOKIES & CREAM (SEASONAL) Supplier Notes Supplier Notes
26 2% I	Low Fat Milk, Gallon, 3 Day Delivery - E Supplier Upstate Niagara Cooperative, Inc. Low Fat Milk, Gallon, 3 Day Delivery - E Supplier Upstate Niagara Cooperative, Inc.	Base Bid/Fire QTY 560 Base Bid/Fire QTY 10	m Pricing UOM EACH m Pricing UOM EACH	Unit Price \$3.85 Unit Price	Extended \$2,156.00 Extended	INTENSE COOKIES & CREAM (SEASONAL) Supplier Notes Supplier Notes

September 1, 2020 through August 31, 2021

16 oz PLASTIC BOTTLES, 2% Low Fat Milk, Low Fat Chocolate, Low Fat Strawberry, Intense Chocolate,, Capuccino (Mocha or Vanilla),
Mocha, Vanilla, Mint Chocolate Chip, plus any periodic special flavors. PLEASE LIST ALL FLAVORS AVAILABLE. 3 Day Delivery - Alt. No. 1
Price Adjust.

	Frice Aujust.					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
						(CROSSED OFF MOCHA IN THE BID
						SPEC) WHOLE MILK, 2%, SKIM,
						INTENSE CHOCOLATE, INTENSE VAN,
						INTENSE LF STRAW, LF VAN
						CAPPUCCINO, MINT CHOC CHIP
						(SEASONAL), INTENSE PUMPKIN SPICI
						(SEASONAL), INTENSE COOKIES &
	Upstate Niagara Cooperative, Inc.	5000	EACH	\$0.99	\$4,950.00	CREAM (SEASONAL)
34	1% Low Fat Milk, Gallon, 3 Day Delivery -	Alt. No. 1 P	rice Adjust.			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	150	EACH	\$3.32	\$498.00)
37	Homogenized Milk, Gallon, 3 Day Deliver	v Alt No 1	L Drice Adjust			
37	Supplier Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	48	EACH	\$3.75	\$180.00	• •
	opstate Magara cooperative, me.	40	LACIT	43.73	7100.00	
38	Skim Milk, Gallon, 3 Day Delivery - Alt. No	o. 1 Price Ad	ljust.			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	20	EACH	\$3.22	\$64.40)
40	Buttermilk, Quart, 3 Day Delivery - Base E	Bid/Firm Pri	cing			
ı	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	1220	EACH	\$1.18	\$1,439.60)
42	4% Cottage Cheese, Small Curd, 5 Pound,	3 Day Deliv	ery - Base Bio	d/Firm Pricing		
<u> </u>	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	9	EACH	\$9.20	\$82.80)

September 1, 2020 through August 31, 2021

Cottage Cheese - Low Fat, Small Curd, 5 Po	ound, 3 Day	Delivery - Ba	ase Bid/Firm Pricing		
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	109	EACH	\$9.20	\$1,002.80	
Sour Cream, 5 Pound, 3 Day Delivery - Bas	e Bid/Firm	Pricing			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	900	EACH	\$9.50	\$8,550.00	
Sour Cream, 1 Pound, 3 Day Delivery - Bas	e Bid/Firm	Pricing			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	30	EACH	\$1.98	\$59.40	
Yogurt - Flavored, Variety, 4 oz, 3 Day Deli	ivery - Base	Bid/Firm Pri	cing		
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	2430	EACH	\$0.32	\$777.60	
8 Yogurt - Fat Free Flavored Variety, 4 oz, 3	Day Deliver	y - Base Bid/	Firm Pricing		
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	64600	EACH	\$0.32	\$20,672.00	
9 Dari Ease, 1/2 pint, 3 Day Delivery - Base I	Bid/Firm Pri	cing			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	40	EACH	No Bid		
Greek Yogart - Plain, 2 lbs, Each, 3 Day De	livery - Base	e Bid/Firm Pr	ricing		
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	10	EACH	\$3.29	\$32.90	
2 Yogurt No Fat, 8 oz, 3 Day Delivery - Base	Bid/Firm Pr	icing			
1 logart No Fat, 6 02, 5 Day Delivery - Base					
Supplier Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes

September 1, 2020 through August 31, 2021

3 Yogart - Vanilla, 5lbs, 3 Day Delivery - Bas	e Bid/Firm I	Pricing			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	190	EACH	\$5.35	\$1,016.50	
4 Yogart - Strawberry, 5lbs, 3 Day Delivery	- Base Bid/F	irm Pricing			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	85	EACH	\$5.30	\$450.50	
6 Yogurt - Flavored, Variety, 8 oz, 3 Day Del	ivery - Base	Bid/Firm Pri	cing		
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	15	EACH	\$0.65	\$9.75	
8 Non-Dairy Creamer, 402 ct., 3/8 oz each,	3 Day Delive	ery - Base Bid	/Firm Pricing		
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	5	BOX	\$10.55	\$52.75	
9 Half Half - Fat Free, QT, 3 Day Delivery - E	Base Bid/Fir	m Pricing			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	280	EACH	No Bid		
0 Lactaid, 1/2 Pint Carton, 3 Day Delivery -	Base Bid/Fir	m Pricing			
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	10088	EACH	\$0.80	\$8,070.40	
5 Greek Yogart - Plain, 2 lbs, Each, 3 Day De	elivery - Alt.	No. 1 Price A	djust.		
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	400	EACH	\$2.99	\$1,196.00	
6 Greek Yogart - Vanilla, 2 lbs, Each, 3 Day I	Delivery - Al	t. No. 1 Price	Adjust.		
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	200	EACH	\$2.99	\$598.00	

September 1, 2020 through August 31, 2021

Supplier QTY UOM Unit Price Extended Supplier Notes Upstate Niagara Cooperative, Inc. 1000 EACH No Bid 68 Yogurt - Fat Free Flavored Variety, 4 oz, 3 Day Delivery - Alt. No. 1 Price Adjust. Supplier QTY UOM Unit Price Extended Supplier Notes Upstate Niagara Cooperative, Inc. 13100 EACH \$0.292 \$3,825.20 70 Half amp; Half - Fat Free, QT, 3 Day Delivery - Alt. No. 1 Price Adjust. Supplier QTY UOM Unit Price Extended Supplier Notes Upstate Niagara Cooperative, Inc. 120 EACH No Bid
68 Yogurt - Fat Free Flavored Variety, 4 oz, 3 Day Delivery - Alt. No. 1 Price Adjust. Supplier Upstate Niagara Cooperative, Inc. 13100 EACH \$0.292 \$3,825.20 70 Half amp; Half - Fat Free, QT, 3 Day Delivery - Alt. No. 1 Price Adjust. Supplier QTY UOM Unit Price Extended Supplier Notes
Supplier QTY UOM Unit Price Extended Supplier Notes Upstate Niagara Cooperative, Inc. 13100 EACH \$0.292 \$3,825.20 To Half amp; Half - Fat Free, QT, 3 Day Delivery - Alt. No. 1 Price Adjust. Supplier QTY UOM Unit Price Extended Supplier Notes
Upstate Niagara Cooperative, Inc. 13100 EACH \$0.292 \$3,825.20 70 Half amp; Half - Fat Free, QT, 3 Day Delivery - Alt. No. 1 Price Adjust. Supplier QTY UOM Unit Price Extended Supplier Notes
70 Half amp; Half - Fat Free, QT, 3 Day Delivery - Alt. No. 1 Price Adjust. Supplier QTY UOM Unit Price Extended Supplier Notes
Supplier QTY UOM Unit Price Extended Supplier Notes
Unstate Niagara Cooperative, Inc. 120 FACH No Rid
opstate Magara cooperative, me. 120 Enem
71 Buttermilk, Quart, 3 Day Delivery - Alt. No. 1 Price Adjust.
Supplier QTY UOM Unit Price Extended Supplier Notes
Upstate Niagara Cooperative, Inc. 2315 EACH \$1.0755 \$2,489.78
73 4% Cottage Cheese, Small Curd, 5 Pound, 3 Day Delivery - Alt. No. 1 Price Adjust.
Supplier QTY UOM Unit Price Extended Supplier Notes
Upstate Niagara Cooperative, Inc. 10 EACH \$7.69 \$76.90
74 Cottage Cheese - Low Fat, Small Curd, 5 Pound, 3 Day Delivery - Alt. No. 1 Price Adjust.
Supplier QTY UOM Unit Price Extended Supplier Notes
Upstate Niagara Cooperative, Inc. 20 EACH \$7.69 \$153.80
77 Sour Cream, 5 Pound, 3 Day Delivery - Alt. No. 1 Price Adjust.
77 Sour Cream, 5 Pound, 3 Day Delivery - Alt. No. 1 Price Adjust. Supplier QTY UOM Unit Price Extended Supplier Notes
Supplier QTY UOM Unit Price Extended Supplier Notes
SupplierQTYUOMUnit PriceExtendedSupplier NotesUpstate Niagara Cooperative, Inc.228EACH\$7.75\$1,767.00

September 1, 2020 through August 31, 2021

	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	75	EACH	\$4.50	\$337.50	
Y	ogart No Fat, 8 oz, 3 Day Delivery - Alt. N	o. 1 Price A	djust.			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	2000	EACH	\$0.57	\$1,140.00	
1 Y	ogart - Vanilla, 5lbs, 3 Day Delivery - Alt.	No. 1 Price	Adjust.			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	1360	EACH	\$4.97	\$6,759.20	
32 Y	ogart - Strawberry, 5 lbs, 3 Day Delivery	- Alt. No. 1 F	Price Adjust.			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	245	EACH	\$4.85	\$1,188.25	
34 Y	ogart - Flavored, Variety, 8 oz, 3 Day Deli	very - Alt. N	lo. 1 Price Ad	djust.		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	20	EACH	\$0.57	\$11.40	
37 La	actaid, 1/2 Pint Carton, 3 Day Delivery - A	Alt. No. 1 Pri	ice Adjust.			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	2595	EACH	\$0.75	\$1,946.25	
90 Ju	uice - Apple, Orange, Grape (Purple Only)	, 4 oz, 3 Day	/ Delivery - E	Base Bid/Firm Pricing		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
	Upstate Niagara Cooperative, Inc.	81450	EACH	\$0.2056	\$16,746.12	
	00% Fruit Juice, 4 oz. Cup, (Note to Bidde	er: Specify B	rands/Juice	Available), 3 Day De	livery - Base Bi	d/Firm Pricing, 3 Day Delivery - E
41	id/Titili Fricing					
41	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes

September 1, 2020 through August 31, 2021

01 100% Fruit Juice, 4 oz. Cup, (Note to bidde	r: Specify Bı	rands/Juice	Available) 3 Day Del	ivery - Alt. No.	1 Price Adjust.
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes
Upstate Niagara Cooperative, Inc.	200	EACH	\$0.1875	\$37.50)
, , , , , ,					
.02 Juice - Apple, Orange, Grape (Purple Only),	, 4 oz, 3 Day	Delivery - A	Alt. No. 1 Price Adjus	st.	
	, 4 oz, 3 Day QTY	Delivery - A	Alt. No. 1 Price Adjus Unit Price	st. Extended	Supplier Notes

7/21/2020 8